Math 3 Test Review 

Name ______________

Unit 1 Matrices

1. State the dimensions of the matrix. 
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2. Solve for x, y, and z. 
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For 3-11, Use Matrices A, B, C, D, E, and F to find each of the following. If the matrix does not exist, write IMPOSSIBLE.
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3. -12A + 4B =

   4. -6C – ½D = 
       5. BB = 

         6. EF =


7. AE =
8. -3(3C – 5D) =
  
 

      9. CD = 

10. Calculate det A.




11. Calculate det  C. 
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12. Use Cramer’s Rule to solve: 

13. Find the inverse of the matrix: 
[image: image9.wmf]-

-

-

L

N

M

O

Q

P

5

7

6

3


14. Solve the matrix equation: 
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Solve the system of equations using the inverse method.  (X = A
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 · B)  For 16 – just set it up
15. 
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16. 
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Define your variables, write your equations, create a matrix equation, and then solve for the solutions in context:

17.  Briana and Kayla both worked in their flower gardens adding daylilies and hydrangeas.  Briana purchased 5 daylilies and 6 hydrangeas for $58.  Kayla spent $44 on 1 daylily and 12 hydrangeas.  Find the cost of one daylily and one hydrangea if they both shopped at the same store.  

Construct a digraph and/or an adjacency matrix for the following questions:

18.  During the summer, Tiesha travels the United States to see Lady Gaga concerts.  On the most recent summer she wanted to leave Atlanta (ATL) to visit St. Louis (STL), Los Angeles (LAX), Dallas (DAL),  Chicago (CHI), Miami (MIA), and Detroit (DET).  There are flights for $200 from Atlanta to CHI, MIA, and STL.  St. Louis has $150 flights to LAX, and $300 flight MIA.  To fly out of Los Angeles, the flights are $150 to DAL, $200 to ATL,  $150 to CHI, and $250 DET.  Dallas only has flights to LAX and ATL for $100.  Chicago  flies to all locations for $200.  Miami has flights to LAX for $300 and $200 flights to ATL   and CHI.  Detroit flies to CHI for $100 and ATL for $250.  Construct an adjacency matrix  for the different flight possibilities, where each entry in the matrix is the cost of travel.

19.  You need to buy some filing cabinets. You know that Cabinet X costs $10 per unit, requires six square feet of floor space, and holds eight cubic feet of files. Cabinet Y costs  $20 per unit, requires eight square feet of floor space, and holds twelve cubic feet of    files. You have been given $140 for this purchase, though you don't have to spend that    much. The office has room for no more than 72 square feet of cabinets. How many of  which model should you buy, in order to maximize storage volume?
a.  Write the inequalities that represent the four constraints, graph them, and shade the 
      feasible region.
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b.  Name all the critical values.

c.  Write an objective function that represents maximized volume.

d.  Use the critical values and the objective function justify which values maximize the volume.
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20.  Construct an adjacency matrix for the mall route web above. Use a 1 to indicate that there 
        is a direct path to the store and a 0 when there is no path to the store. 
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21.  How many different ways can you get from the Walmart to Best Buy?
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